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Third Semester B.Com. Degree Examination,
November/December 2019

(CBCS Scheme)
Commerce

Paper 3.3 - CORPORATE ACCOUNTING

Time : 3 Hours| [Max. Marks : 70

Instructions to Candidates : Answer should be written completely either in English or n
Kannada.

SECTION - A/2yen - &

Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
0dnF)ertR DR euB-BBNY eugdA0. T3 evD-BIM 2 VTN TN3,..-

1. (a) Who is an underwriter?
DR PWOIE B 2063 03»TL?

(b) State any two advantages of underwriting.
DBeD PWOTF03 HTB VTBITHOINTT), 892

(c) What is sales ratio?
FIP0EIT BTBITZ H0WTERO?

(d) What ratios normally used to apportion pre and post incorporation incomes
and expenses?

Boodeexndod FRIE SO FBo3TH Bl 03 a)abs‘rﬁ@ﬁﬁ%mmwamﬁ B0 0JTI
BTVOTIINTTY, WIRODO?

(e) Closing capital employed Rs. 6,00,000, Net profit for the current year
Rs. 1,20,000. What is average capital employed?
IRFT Fpdobd IAENCOS wordmed Ow. 6,00,000, Iz JIRED c‘OaSa%* (STh
S. 1,20,000 &N33, evzmadecNAt 309D woBZoY =)

(i) Fixed assets Rs. 15,00,000, Current assets Rs. 12,00,000, Arrears of

preference dividend Rs. 60,000, 5% preference share capital Rs. 6,00,000,
current liabilities Rs. 4,50,000, 6% debentures Rs. 3,00,000.

Calculate net assets available to equity shareholders.

23 e de. 15,00,000, @33 es3righ S, 12,00,000, esB@ sieoons $reds 09230080
wod Tw. 60,000, 5% eBze RHedd worEmey Bw. 6,00,000, w9 wHwdN
Ss. 4,50,000, 6% meez3neh dwe. 3,00,000.

TR0, KeCLWTON WATabLWHIWIT K)ﬁ;ﬁ 2000, TOBO HROD.

(g) State any six factors affecting goodwill.
3e3f SPOT Boedd BOHB) GVOLDL JIVBOZ 0T TBTL BTY ©03NIE), BZ0A.

1/10



63321

SECTION - B/ &%n - 9

Answer any THREE questions. Each question carries 6 marks : (3 x6=18)
033953) T B SIRTD BB 6u3d20. T3 B 6 vz S, :

Volvo Ltd. issued 2,00,000 shares of Rs. 10 each, these shares were
underwritten as under A — 1,00,000 shares and B — 60,000 shares. The public
applied for 1,60,000 shares which included marked applications as under :

A - 24,000 shares and B - 8,000 shares. You are required to determine the net
liability of the underwriters.

@ad@s go&dodw de. 108 S We3ad 2,00,000 BetLNYR), FSEwATON deBD. S Bedond
DD zddzﬁﬁo.bﬁ%ét 39AP03 IPBeRNE. A - 1,00,000 Bedoried 203 B - 60,000 3edorigh.

TS wATO0W FoBA wor weny 7'30&% 1,60,000, e)rid F3 rododd SnBE euensh o

Bes 9t : .

A — 24,000 3edonie S>3 B - 8,000 3edoneh. 5,8 00ed ¥o33me0s A=Y &R D0dTY,
OB HBOWD.

Sahana Ltd. had purchased a business on 01.01.2018. The company received its
certificate of incorporation on 01.06.2018. The average monthly sales for the
period before incorporation was 25% more than the average monthly sales for the
period after incorporation. The total sales during the year was Rs. 13,25,000.
Ascertain :

(a) Time Ratio
(b) Sales Ratio

(c) Pre and Post Incorporation sales

BT Qo3 ru’oﬁg)ai» WO 3[B0SR), Dweos 01.01.2018 domh DBeBROIT. soadecwsodd )
IR3nn IS, Bwe0s 01.06.2018 Tord IBHTLIT. Zocleerdodh FRPTET SPE 09RO
S0t moadeemRod) Bo3TH SWAF F0Zd dDoawé‘v:OSQQ de. 25 OR), 8DTTINTOZT.
TONET wE3), B00ee3R) Cwe. 13,25,000 NYaNCLZ .

(a) =DALT ¥BOTI

(b) [noetid eaabmz;a’ama

(c) jodﬂfﬁsﬁ?&bdﬁfﬁ}g‘%ﬁg Roolactod) BoIBE SRTATY, BOB) HBODD.

=3 72
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Following information related to Spoorthi Ltd. :

12,000, 10% preference shares of Rs. 100 each Rs. 12,00,000
15,000, equity shares of Rs. 100 each Rs. 15,00,000

Average profit before tax Rs. 9,67,740

Rate of tax 38%
Transfer to be made to reserve 20%

Normal rate of return 15%.
Ascertain the value of equity shares under yield method.
g950@ monadne mﬂér QODAZ How ﬁoﬂmﬁ 202009 :

8. 100 I 2efad 15,000, WRF, Fedoried 8. 15,00,0
30 S0 30D eyl B, 9,67,740 ;
301t Wd 38%

Walal ﬁmm&;ﬁﬁeﬂdcz‘% 20%

RGCN @ BT 15%.

em%ql APOTT mzﬁoaﬁd Hecone wac%m% FOB LBOWD.

The net profit of a business after providing for taxation for the past five years are :

Rs. 80,000, Rs. 92,000, Rs. 85,000, Rs. 1,05,000 and Rs. 1,18,000. The capital
employed in the business is Rs. 8,00,000. The normal rate of return expected in
this type of business is 10%. It is expected that the company will be able to main
its super profit for the next 5 years.

Calculate the value of goodwill on the basis of :

(@) 5 years purchase of super profit method

(b)  Capitalization of super-profit method.

20RO TYTVR FIW 0t IRENY epydrieh 330meN Be. 80,000, dwe. 92,000, BA. 85,000,
gn. 1,05,000 23y dwe. 1,18,000 ®ensn mEGR %o3BNS ©0, 30030 IABALE
WOBYE HBoeet de. 10 eNd. 38, o TTORY, SPBMT woB=eY) Se. 8,00,000
BNCOZE. I0odT 2w IBenYE. DYTIOI) I, ems‘vq\_s SCINEINSY aaaigﬁ.ra#%@m Q0T
0TI IEeRNT.

STICBD B FYT0B 80T Boees e3¢ ST, T HRBOWD.
(a) o3& wepind awb IReny B4 DT
(b) &3 F eyt woBmeYeTTR BHITR Boces

3/10



63321

Under what notes (heading) do you show the following items in the balance sheet
of a company :

(a) Goodwill

(b) Fixed deposits from public
(c) Discount on debenture

(d) Live stock

() Provision for taxation

(f) Bank overdraft

(g Proposed dividend

(h) Bills payable

()  Share premium

(j) Preliminary expenses

(k) Accrued interest on investment

()  Calls-in-advance

8 FYT0RJ)Tieh vES IITA 0dNS 3SWCHBTBODE F2e52THW) IF 392 :
(a) %e&r;&a’aog

(b) ==ewdTO0m ?\(»nd dexed
(c) meoBINY Boeds Jock

(d) ssesmetoned

. b W ,’-" k

a7

(e) 3011 doezew

() aoazsos“ [Xniexd @OF°,
(g) =PWIT eazIo03
(h) =938 BooBried

(i)  Bedd yeoadbo

() =ToRs ;stam}o
(k)  mpB30d Boed wiLeTB WB

1) SBowowsmes sdred
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SECTION - C/ & - 3

Answer any THREE questions. Each question carries 14 marks: (3 x 14 = 42)
OdR) TTT L Saesd B3N ev3d. T3 231 14 eozneh J793, :

Raja Rathna Ltd. invited applications from the public for 5,00,000 shares of
Rs. 10 each at a premium of Rs, 5 per share. Entire issue was underwritten by
underwriters M, N, O and P to the extent of 30%, 20%, 30%, 20% with the
provision of firm underwriting of 15,000 shares, 5,000 shares, 10,000 shares
and 5,000 shares respectively. The company received applications for 3,50,000
shares excluding firm underwriting, out of which marked applications were :

M - 95,000 shares, N — 1,05,000 shares, O - 50,000 shares and P — 40,000
shares respectively.

Prepare a statement showing the net liability of underwriters treating :
(@) Firm underwriting as marked applications
(b) Firm underwriting as unmarked applications

Oaasdr:i PobLAI Fozdodw T, 108 5,00,000 mziraags Ieondnt ge. 5 0o R0
T WATO0E e9eSe esaa“_;{',%d. 2R3 &eféﬁo.bﬁg{ M, N, O S3) P 20¢d 23033 g 30%,
20%, 30%, 20% God dm&cm@d BR3n 330N 15,000 Bedoned, 5,000 3edorieh, 10,000
Bedorieh, 5,000 Redorien ('{)é;ds D0ed z;id:dﬁ&i)ﬁigt SRBeRNS. (Dé;dé DD eﬂﬁrn’@fﬁg{ BPTIBL
wed) 3,50,000 RHedonen &azﬂzrri%imq ?‘%eéaf%d%, &@H'JQ [gSlebx:H) m“%s ®end) 9033,
M - 95,000 Sedorieh, N — 1,05,000 ZEecored, O — 50,000 Hetoneh 23 P - 40,000
Sedorish,

LY olNaRMoniTnriole] K)Sﬁa’i asaaza%&odgdgl 30020z ﬁéédai)a‘igt O ol BGBQDQ .%D;):;}_’@E’o :

(a) (\’)Q;AS DDeH z,iddm’o:bdgt mOBLR INPHTOS el ngod Erfelatibmiin 0}

(b) &%3 DOeH zp’dﬁﬁo:bdgl nOBLR IRBOB e8envod SO EIROT) R0,

Following is the balance sheet of Nakul Co. Ltd. as on 31.3.2018 :

Liabilities Rs. Assets Rs.

6,000 equity shares of Fixed assets 8,00,000
100 each 6,00,000
6% preference shares of Investments 1,00,000
Rs. 100 each 1,20,000
General reserve 1,00,000 Current assets 4,00,000
Profit and loss aj/c 80,000 Preliminary expenses 20,000
5% debentures 2,00,000
Creditors 1,60,000
Bills payable 60,000

13,20,000 13,20,000

Average annual profit Rs. 1,60,000, company transfers 12% of the profits every

year to general reserve. Normal return on capital e ted.is 10%
Compute the value of shares by o 1‘\:’\(91 _i_ﬂﬁf: ’.,1\\\
(a)  Intrinsic value method AN L2 ’\f};., \
(b)  Yield method and iy R V&
(¢)  Fair value method et N /& U/
vGF 563 12:?,’\,5\::/\/
5/ 10\\._\ ,/«}_.,/_7,
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B©003 31.3.2018 ot BBoer FoBAoh e3-wewad He3adn Y5003 :

wIIRON o¥2} es27ied 0.

G, 10003 6,000 s, Fedoried  6,00,000 3TN 8,00,000
Bse. 100 236308 Be. 68 BB BRBEML 1,00,000
B33 Bedoried 1,20,000
mm% B 1,00,000 w9 s e 4,00,000
ot~ I, 3793 80,000 BPSFLE SWI 20,000
Be. 58 moTgNed 2,00,000
Bedrich 1,60,000
BB CTT BOOBNLD 60,000

713,20,000 13,20,000

20080 Joafs ewyd Tw. 1,60,000, ZoBodn e 12 TR, woyade), mSNT oezdn

@ &3

SMEOVRIN a'epadm’dﬁ% CR28R0RT. DT epyld B3 10%, 3ABNLT WoBTIT Boeed.

Qes) FoIT,; Hedond 330, 5T 0[D, B FINT DPIVNYE), 0RO HBOWD
(a) 0308 IPYT T

(b) ov3E =[Py QT =03

() dRFg=e3 3P AT

R.K Ltd. was incorporated on 1.8.2018 to take over the running business of

SK Ltd. as from 1.4.2018. Prepare a statement of profit and loss showing the

profit prior to and profit after incorporation of the company, with the help of the

following additional information and for details for the year ended 31 30019,

(a) Rent was paid at Rs. 1,500 p.m. upto 01.08.2018 and thereafter it was
increased to Rs. 3,000 p.m.

(b) The average monthly sales upto 1.8.2018 were Rs. 90,000 and since then,
the average monthly sales were Rs. 1,05,000.

Profit and Loss Account for the year ending 31.3.2019

Particulars Rs. Particulars Rs.

To Salaries and allowances 90,000 By Gross profit b/d 3,00,000
To Rent and taxes 34,500
To Directors fees 4,500
To Selling expenses 6,000 ;
To Discount on sales 1,500 .
To Advertisement 10,750 i
To Preliminary expenses = s

written off 4,950 ¥ A
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Particulars

To Interest on debentures
To Interest on vendors

(upto 30.9.2018)

To Repairs to building
To Depreciation

To Net profit ¢/d

63321

Rs. Particulars Rs.
2,600
9,000

3,600
12,600
1,20,000

3,00,000 3,00,000

SK Qadbaodw tJobITHS Eﬁéa’mdz’)@l 1.4.2018 8or 2dedm RK Qabanz ;‘a‘oru;o.i»

RPTT S0&S :

(a) Bweos 01.8.20185% =3 Wt I . 1,500 mod ) To3ow Al

ow. 3,000 32%303?165.

(b)  RBooleewmads I eaa:’)aodgq BPAT 30030 I0ovks 1.8.2018 ©o3 o, 90,000
©o3 ) T30 ea;acmq SMAT 093D IP0ovL3 dw. 1,05,000 cf—-'mw'adogd.

Sv{eal>§)
e TAL 02 w%ﬁejo
WoBI 303) 30rinshy
Waldx=1le abe%n’e,b
SI0TE3 aS&jd neb
SPTT Boces Boch
WECTIB) &i ned
09,0095 dz.iﬁ%b a’ﬁdcﬁo@
POTZ T Foces el
SN0 zo&é
(8.30.9.20183 =0r)
SUES Booy, S,
AITY
(0:503@ (Inthl

31.3.2019¢ ooy 203) vz avod

) 230rel )
90,000 z’ufegao EIArTebb) 3,00,000
34,500

4,500 e TWIT

6,000 A /u/'

1,500 / $.F

4,950 \v/& g j‘,

2,600 S

9,000

3,600
12,600

1,20,000
13,00,000 13,00,000
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10. The following particulars are available in respect of the business carried on by
Venkat Ltd. :

()

Profits .earned 2015 - Rs. 2,00,000, 2016 *-“Rs$H 1;92:000,14 2017 -
Rs. 2,08,000.

Profit of 2016 is reduced by Rs. 20,000 due to stock destroyed by fire and
profits of 2015 included a non-recurring income Rs. 12,000.

Profits of 2017 include income from investment Rs. 8,000.

The stock is not insured and it is thought prudent to insure stock in future.
The insurance premium is estimated at Rs. 2,000 p.a.

Normal rate of return 10%.

Average capital employed of Rs. 16,00,000.

Present value of annuity of one rupee for 5 years at 10% is Rs. 3.78.
You are required to calculate the value of goodwill :

(i)  As per 5 years purchase of super profit.

(ii) As pef capitalization of super profit.

(iii) As per annuity method.

Soves Q03 oW 30% ] EFO] m?smdd AITNRYL Bt FYNT08S :

()
(b)

oy NPT 1 2015 - gw. 2,00,000, 2016 - Jw. 1,92,000, 2017 - dw. 2,08,000.

20163 oot3 Bodo0E TP AW 590 T, 20,000 T, FBZORAE 38
2015 O ©ppE, de. 12,000. Fo00 TERIB w0 ReOBR0BT.

20173 ennd de. 8,000 BARTNRLOT wors e3ta0d 3c0BL0RT.

2IoDIBRe ToMB AN IRECIY, BB W@, JoW eFE) AF IPT
QB EDBRNG. Bt 300G JodeT Twe. 2,000 c:frzi%5 30030 esnwBIBERY AP OZRNT.
530 0 8o 10%.

20030 WOBTY BHBB) TLe. 16,00,000.

5 3Renort Be. 108€) Srma03000 BE.A kS W3 The. 3.78.

FYTOB JPIONYOR %eSFa’dD% [ITD DIRBIST0I &3@@6& sedennd :

() o IREMY oV, oo3E DOB |

(i) evd @ oon WOBTYCTO D

(iii)  esmaLs TR
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Following are the balances of Pooja Ltd. for the year ended 31.3.2019. You are
required to prepare the final accounts of the company (vertical form) after taking
additional information into account.

Particulars Amt. Particulars Amt.
To Opening stock 1,50,000 Equity share capital - 5,00,000
To Purchases 3,80,000 Purchase returns 10,000
To Wages 60,000 Sales 11,50,000
To Carriage inwards 2,000 Discount received 6,300
To Furniture 25,000 Surplus account 1,70,000
To Salaries 12,000 Sundry creditors 33,700
To Rent 15,000 General reserve 82,000
To Trade expenses 11,000 Bills payables 13,000
To Sundry debtors 54,000 Provision for doubtful debts 3,000

To Plant & machinery 12,00,000

To Cash at bank 21,500 "

To Patents 9,000 _ :

To Bills receivables 14,000 Y

T Badiabbia 6,500 . it 22

To Discount allowed 8,000 :\:‘_;‘: A
19,68,000 19,68,000

Additional information -
(&)  Closing stock is valued at Rs. 2,00,000.

(b)  Depreciate plant and machinery by 12%, furniture at 10% and patents at
20%.

(c) Write off Rs. 4,000 further bad debts and create new R.B.D. at 5% on
debtors.

(d) Transfer Rs. 25,000 to general reserve.

(€)  Ignore corporate dividend tax.
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LpE FoBOD ¢ FeJodn 31.3.2019 Sordd B $950803W. FWOT BTy eI, ANBI
FeT0aLE (wow =[PTD) 230D :

DT 303 ITrieh 303
DT Se)ned 1,50,000 =B, &edh woBTY 5.00,000
OO 3,80,000 DOERNEL) &0ITINAT 10,000
Vo) 60,000 =IPTNED 11,50,000
R B0dees g 2,000 25030 Zoch 6,300
2eBRCITT LN 25,000 £z&3§8 3 1,70,000
aowYneh 12,000 Geined 385700
woit 15,000 IRT, Y 82,000
YT aﬂaswﬁ%b 11,000 Qerddesat dooBnedd 13,000
abedriedd 54,000 ©BOIRTAE FPONYN V358 3,000
m@do’ S03) odbodeexmsdangd 12,00,000
BRBO 23,088, 21,500
Beedoes® 9,000
WOWETT BOOBMYD 14,000
SJRATINT T 6,500
BRCE BTSSR RNE 8,000

19,68,000 19,68,000

RPVTZE SI0&8Me :
(a) ©083 3T WKL Bke. 2,00,000 0wy afad?jeﬁaz,d.

(b) S0 B0y abodpessdend Boed Be. 12, aedocIvdond Hoes de. 10 S03)
Seedoes el Boeds Be. 20 OR), A35¢ 3riad.

(c) =eomavdor Bh. 4,000 SR, YR, FRAUNT 30 S0t IRED Hod 03) OTOBIOTIRE
Fongmn 5% ezdB.

(d) T 25,000 r¥my, mﬁ@@dg:éa*ﬁ_éﬁhajéomzf\
(e) voBperdess oazp?ogjgséﬁ@ﬁ?wrgm.

- w
[ Za\tSy
\ ~% —6 e .7 4
DN \‘(\o‘,/ 7
e x



